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QUESTION 1

Your client wants its website to support multiple channel delivery. The client has new requirements: 

1.The web pages should rearrange themselves for smaller devices and/or browser size and/or orientation. 

2.Editors do not need to do anything more or learn anything new than what they do or know currently, with regard to
their current 1024-pixel-wide website. 

3.The client wants to keep the amount of code testing to a minimum. 

Which solution best meets these requirements? 

A. Create multiple instances of Article assets, one each for the type of device that you want to support, and assign them
the appropriate template. 

B. Create multiple instances of responsive templates, one each for the type of device that you want to support, by using
namespaces to distinguish between them at request time. 

C. Install multiple WebCenter Sites delivery environments, one each for the type of devices that you want to support. 

D. Refactor your existing templates by using the open source CSS and JavaScript libraries to enable responsive
behaviors. 

Correct Answer: A 

 

QUESTION 2

Which three are necessary to make aWebCenter Sites deliveryenvironment highly available? 

A. running WebCenter Sites in a cluster 

B. a shared file system 

C. a load balancer 

D. a highly available asset model 

E. restriction to three levels of parent hierarchy in an asset model 

Correct Answer: ABD 

 

QUESTION 3

What is wrong with the following code fragment? 
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A. Nothing. This code fragment will work as expected. 

B. The slot name HelloSlot cannot be repeated for any given content management site. 

C. The template name Detail cannot be repeated for any given content management site. 

D. Theinsite:calltemplatetag has a syntax error. The Argument field, which is a required argument, is missing. 

Correct Answer: D 

 

QUESTION 4

What are the basic required components to make the Contribution User Interface usable? 

A. users (including their ACLs and roles) and the data model 

B. users (including their ACLs and roles) and auxiliary user interfaces 

C. a data model, auxiliary user interfaces, and a JSP page template 

D. users, a data model, and a workflow 

Correct Answer: B 

 

QUESTION 5

Your customer has given you the following requirements: 

Correct Answer: E 
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